



E2383

Author(s): E. T. Ordman, Richard Gibbs and Harold Stocker Source: *The American Mathematical Monthly*, Vol. 80, No. 9 (Nov., 1973), p. 1066 Published by: Taylor & Francis, Ltd. on behalf of the Mathematical Association of America Stable URL: http://www.jstor.org/stable/2318795 Accessed: 28-02-2018 14:25 UTC

JSTOR is a not-for-profit service that helps scholars, researchers, and students discover, use, and build upon a wide range of content in a trusted digital archive. We use information technology and tools to increase productivity and facilitate new forms of scholarship. For more information about JSTOR, please contact support@jstor.org.

Your use of the JSTOR archive indicates your acceptance of the Terms & Conditions of Use, available at http://about.jstor.org/terms



Mathematical Association of America, Taylor & Francis, Ltd. are collaborating with JSTOR to digitize, preserve and extend access to The American Mathematical Monthly

Catalan Numbers

E 2383 [1972, 1034]. Proposed by E. T. Ordman, University of Kentucky Let n be a nonnegative integer. For $p = 1, 2, \cdots$ define

$$S_p(n) = \sum_{k=0}^{\lfloor n/2 \rfloor} \left[\binom{n}{k} - \binom{n}{k-1} \right]^p,$$

where we make the usual conventions regarding binomial coefficients. It is easy to evaluate $S_1(n)$. Evaluate $S_2(n)$.

Solution by Richard Gibbs and Harold Stocker, Fort Lewis College, Durango, Colorado. Let

$$T(n) = \sum_{k=0}^{n+1} \left[\binom{n}{k} - \binom{n}{k-1} \right]^2.$$

By the symmetry of the binomial coefficients, $T(n) = 2S_2(n)$. Now

$$T(n) = \sum_{k=0}^{n+1} \left[\binom{n}{k}^2 - 2\binom{n}{k} \binom{n}{k-1} + \binom{n}{k-1}^2 \right].$$

From the identity $\binom{n}{k} + \binom{n}{k+1} = \binom{n+1}{k}$ we obtain

$$2\binom{n}{k}\binom{n}{k-1} = \binom{n+1}{k}^2 - \binom{n}{k}^2 - \binom{n}{k-1}^2.$$

Therefore,

$$T(n) = 2\sum_{k=0}^{n+1} {\binom{n}{k}}^2 + 2\sum_{k=0}^{n+1} {\binom{n}{k-1}}^2 - \sum_{k=0}^{n+1} {\binom{n+1}{k}}^2.$$

Using the identity $\sum_{j=0}^{m} {m \choose j}^2 = {2m \choose m}$ and the fact that ${n \choose -1} = {n \choose n+1} = 0$ we obtain

$$T(n) = 4 \binom{2n}{n} - \binom{2n+2}{n+1} = 4 \binom{2n}{n} - 2 \left[\binom{2n}{n-1} + \binom{2n}{n} \right]$$
$$= 2 \binom{2n}{n} - 2 \binom{2n}{n-1}.$$

Therefore

$$S_2(n) = \binom{2n}{n} - \binom{2n}{n-1} = \frac{1}{n+1} \binom{2n}{n}.$$

Thus $S_2(n)$ is just the *n*th Catalan number.

Also solved by Günter Bach (Germany), Anders Bager (Denmark), M. T. Bird, D. M. Bloom, Dieter Bode (Germany), Frederick Carty, H. W. Gould, M. G. Greening (Australia), Robert Heller, J. D. Hiscocks, O. P. Lossers (Netherlands), Alexandru Lupas (Romania), Milan Lustig (Czechoslovakia), Kumer Murty & Ram Murty, M. R. Railkar (India), Jürg Rätz (Switzerland), Kenneth Rosen, F. C. Smith, Phil Tracy, E. Trost (Switzerland), David Zeitlin, and the proposer.